ﬁ 5 i 5 . Polynomutvidelse

StudentName: __ ExamDate: _  ExamScore:
(4x— 6)(6x — 4)(3x + 2) (6x — 4)(4x* +3x+ 5)— Bx — 1)(x + 3)
(3% — 4)(5x+5) + 57 +5x + 1 >~ 2)(x—3)—2¢ —5x -3
(% = 3)(6x— 6) + 4 +x—3 (2x + 6)(x + 6)(3x + 6)
(6 — 4)(5x +2) + 6% — 2x + 4 (x+ 6)(2x° + 5x— 6) — (2x — 4)(x + 4)
(2x— 3)(5x = 5)(5x + 6) (6x — 4)(4x — 4)(2x + 2)
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ﬁ 5 E 5 . Polynomutvidelse

StudentName: ExamDate: ExamScore:
(4x — 6)(6x —4)(3x + 2) (6x — 4)(4x2 +3x+5)—Bx—1)(x+3)
725> — 108x° — 32x + 48 24x° — 2+ 10x— 17
(3x% — 4)(5x + 5) + 57 + 5x + 1 2= 2)(x=3)—2¢ —5x—3
15x° + 2062 — 15x— 19 ¥ =5 —Tx+3
(o —3)(6x—6) + 4 +x—3 (2x+ 6)(x + 6)(3x + 6)
6 — 2x* — 17x+ 15 6x° + 66x> +216x+ 216
(6x2 — 4)(5x +2) + 6% — 2x + 4 (x+ 6)(2x% + 5x — 6) — (2x — 4)(x + 4)
30x0° + 18x% — 22x — 4 253 4+ 15x% + 20x — 20
(2x — 3)(5x — 5)(5x + 6) (6x — 4)(4x — 4)(2x + 2)
50x° — 65x° — 75x + 90 48x° — 32x% — 48x + 32
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